# Division (International) with a Helper Grid Name:

Solve each problem. Answers
) 262: 9 = 2) 284 : 3 =
1.
2.
3.
4,
5.
6.
3 936 : 9 = 4 392 7=
5 781 : 2 = ) 772: 5 =
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 262: 9 =029r1 2) 284 : 3 =094r2
1 29r1l
-0 -0
26 28
2. Ar2
.18 27
82 14 3 104
-181 -112
1 2 4. 56
5 390r1
6. 154 r2
3 936 : 9 =104 4d 392 : 7 =056
-9 -0
03 39
-0 .35
36 42
-136 - 142
0 0
5 781 : 2 =390r1 6) 772 : 5 = 154r2
-6 -5
18 27
.18 25
01 22
-0 -20
1 2
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